

05/18/2023

**Vendor Ranking** 

Page 1 of 1

08230509 Letting:

Call Order: 001

E8U48-R0 Contract:

District: Turnpike

Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

May 09, 2023 02:30 PM

PALM BEACH, TURNPIKE Project(s): 19236817212 (\*)

Contract Desc: ASPHALT MAINTENANCE - ZONE 1

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	FLORIDA BLACKTOP, INC.	Responsive	Winning bid	\$927,489.13	100.00% In	tent to AWARD
2	WEEKLEY ASPHALT PAVING, INC.	Responsive	Non-Winning Bid	\$2,059,007.00	222.00%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MAY 23, 2023 AT 4:00 PM





**Tabulation of Bids** 

Page 1 of 5

**Letting:** 08230509 May 09, 2023 **Call Order:** 001 **Contract:** E8U48-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19236817212 (\*)

Contract Descr: ASPHALT MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform maintenance and repair of asphalt pavement deficiencies and defects, including replacing existing asphalt pavement, raised pavement markers, painted and thermoplastic pavement markings at various locations on the Homestead Extension of Florida's Turnpike (HEFT) (SR 821), Milepost (MP) 0.0 to 47.9; Florida's Turnpike (SR 91), MP 0.0X to 100.0, and the Sawgrass Expressway (SR 869), MP 0.0 to 21.8.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Asphalt Paving. The Experience in Asphalt Paving Form (850-070-01) must be filled out and submitted with the bid to be reviewed by the Department.

Line No / Item ID Item Description	Alternate C	Quantity Units	(1) FLORIDA BL	ACKTOP, INC.	(2) WEEKLE' PAVING			
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (ASP	HALT REI	PAIR (MECHANICA	AL) (TN				
0005 0102 60 WORK ZONE SIGN		500.000 ED	1.39000	695.00	3.00000	1,500.00		
0010 0102 74 1 CHANNELIZING DEVICE VP, DRUM, OR LCD		,000.000 ED	1.45000	7,250.00	1.50000	7,500.00		
0015 0102 76 ARROW BOARD / ADVA ARROW PANEL	NCE WARNING	50.000 ED	55.74000	2,787.00	35.00000	1,750.00		
0020 0102 99 PORTABLE CHANGEAB SIGN, TEMPORARY	LE MESSAGE	50.000 ED	100.33000	5,016.50	100.00000	5,000.00		
0025 0327 70 1 MILLING EXISTING ASPI PAVEMENT, 1" AVG DEF	HALT	,000.000 SY	8.82000	176,400.00	20.00000	400,000.00		



Page 2 of 5

## Florida Department of Transportation



# **Tabulation of Bids**

Letting:	: 08230	509 Ma	y 09, 2023	Cal	<b>II Order:</b> 001		Contract:	E8U48-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) FLORIDA BL	ACKTOP, INC.	(2) WEEKLE PAVING			
() indic	cates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	)1 (A	SPHALT REF	PAIR (MECHANIC	AL) (TN				
MILLING	0327 70 11 EXISTING ASPH <i>I</i> NT, 2 1/4" AVG DI		1,000.000 SY	10.41000	10,410.00	50.00000	50,000.00		
SUPERP	0334 1 53 AVE ASPHALTIC C, PG76-22	CONCRETE,	270.000 TN	491.16000	132,613.20	900.00000	243,000.00		
ASPHALT	0337 7 25 T CONCRETE FRI E, INC BIT, FC-5, F		765.000 TN	569.24000	435,468.60	1,500.00000	1,147,500.00		
	0339 1 .ANEOUS ASPHA	LT PAVEMEN	10.000 NT TN	2,185.97000	21,859.70	2,000.00000	20,000.00		
PAINTED	0710 11101 DPAVEMENT MA RD, WHITE, SOLII		2.750 GM	1,724.75000	4,743.06	3,520.00000	9,680.00		
PAINTED	0710 11131 DPAVEMENT MA RD, WHITE, SKIP WIDE		5.250 GM 3-9	638.79000	3,353.65	880.00000	4,620.00		
PAINTED	0710 11201 DPAVEMENT MA RD, YELLOW, SO		1.600 GM	1,724.74000	2,759.58	3,520.00000	5,632.00		
THERMO	0711 11123 DPLASTIC, STAND 2" FOR CROSSW ABOUT		200.000 E, LF	4.47000	894.00	4.00000	800.00		



Page 3 of 5

## Florida Department of Transportation



# **Tabulation of Bids**

Lettin	<b>g</b> : 08	3230509	May 09, 2023	Cal	<b>II Order:</b> 001		Contract:	E8U48-R0	
	No / Item ID	Alternat	e Quantity Units	(1) FLORIDA BL	ACKTOP, INC.	(2) WEEKLE' PAVING			
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
	0711 11124 10PLASTIC, S <sup>1</sup> 18" FOR DIAG RONS	•	100.000 HITE, LF	6.71000	671.00	6.00000	600.00		
	0711 11125 10PLASTIC, S <sup>-</sup> 24" FOR STOI SWALK		100.000 HITE, LF	8.94000	894.00	8.00000	800.00		
	0711 11160 MOPLASTIC, ST AGE OR SYMB		10.000 HITE, EA	191.64000	1,916.40	225.00000	2,250.00		
0085	0711 11170		10.000	127.76000	1,277.60	200.00000	2,000.00		
THERN ARROV	MOPLASTIC, S <sup>-</sup> V	TANDARD, WI	HITE, EA						
0090	0711 15101		2.750	8,304.34000	22,836.94	9,000.00000	24,750.00		
	MOPLASTIC, S ED ASPHALT S 6"								
0095	0711 15102		0.500	11,072.90000	5,536.45	9,000.00000	4,500.00		
	MOPLASTIC, S <sup>-</sup> ED ASPHALT S 8"								
GRADE	0711 15131 MOPLASTIC, S ED ASPHALT S ",10-30 SKIP C	SURFACES, W	HITE,	2,076.09000	10,899.47	2,500.00000	13,125.00		
GRADE	0711 15201 MOPLASTIC, STED ASPHALT S W, SOLID, 6"		2.750 EN GM	8,304.34000	22,836.94	9,000.00000	24,750.00		





## **Tabulation of Bids**

Page 4 of 5

: 082305	09 May	09, 2023	Cal	l Order: 001		Contract:	E8U48-R0	
No / Item ID /	Alternate		(1) FLORIDA BL	ACKTOP, INC.				
cates item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASI	PHALT REF	PAIR (MECHANIC	AL) (TN				
E101 72 ATION (EMERGEN ISE)	CY	2.000 EA	12,982.37000	25,964.74	18,000.00000	36,000.00		
E102 10 TY LAW ENFORCE R	MENT	320.000 MH	83.04000	26,572.80	150.00000	48,000.00		
E706 1 42 TIVE PAVEMENT R(REMOVE AND E)(CLASS B)		750.000 EA	5.11000	3,832.50	7.00000	5,250.00		
		n Totals:		\$927,489.13 <sup>°</sup>		\$2,059,007.00		
	No / Item ID Description Cates item is bid as Lu SECTION: 0001 E101 72 ATION (EMERGEN: SE) E102 10 TY LAW ENFORCE E706 1 42 TIVE PAVEMENT (REMOVE AND E)(CLASS B) 0001 ASPHALT RE	No / Item ID Alternate Description Cates item is bid as Lump Sum  SECTION: 0001 (ASI E101 72 ATION (EMERGENCY SE) E102 10 TY LAW ENFORCEMENT R E706 1 42 TIVE PAVEMENT (REMOVE AND E)(CLASS B)	No / Item ID Alternate Quantity Description Units  SECTION: 0001 (ASPHALT REI E101 72 2.000 ATION (EMERGENCY EA SE) E102 10 320.000 TY LAW ENFORCEMENT MH  E706 1 42 750.000 TIVE PAVEMENT EA (REMOVE AND E)(CLASS B) 00001 ASPHALT REPAIR Section Totals:	No / Item ID Alternate Quantity Units  Description  Cates item is bid as Lump Sum  CATION: 0001 (ASPHALT REPAIR (MECHANIC)  ATION (EMERGENCY EA SE)  E102 10 320.000 83.04000  TY LAW ENFORCEMENT MH  CATION (EMERGENCY EA SE)  E706 1 42 750.000 5.11000  TIVE PAVEMENT EA (REMOVE AND E)(CLASS B)  00001 ASPHALT REPAIR Section Totals:	No / Item ID	No / Item ID	Comparison   Com	Alternate Description

Contract Grand Totals: \$927,489.13 \$2,059,007.00



05/18/2023

## **Tabulation of Bids**

Page 5 of 5

**Letting:** 08230509

May 09, 2023

Call Order: 001

Contract:

E8U48-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.